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I. True or False

1. True

2. False

3. False

4. True

5. True

6. False

7. True

8. True

9. True

10. False

II. 4지선택

1. A

2. D

3. D

4. B

5. C

6. B

7. D

8. A

9. B

10. A

11. A

12. D

13. A

14. D

15. B

16. A

17. B

18. B

19. D

20. C

III. 주관식

1. The two general approaches to estimating a firm’s competitive advantage are measuring accounting performance and measuring economic performance. A firm’s accounting performance is a measure of its competitive advantage calculated using information from a firm’s published profit and loss and balance sheets and a firm’s accounting performance is determined by comparing a firm’s accounting ratios with other firms in the industry. The greatest measure of accounting measures of competitive advantage is that they are relatively easy to compute. The most significant drawback to accounting measures can be difficult to compare across countries.

Economic measures of competitive advantage compare a firm’s level of return to its cost of capital instead of to the average level of return in the industry. The primary benefit of economic measures is that if a firm earns at least its cost of capital, it is satisfying two of its important stakeholders-dept holders and equity holders. Disadvantages of economic measures include that it can be difficult to calculate a firm’s cost of capital, especially for privately held firms, and economic measures may overstate the importance of dept and equity holders.

2. The five threats that constitute the five forces framework include the threat of entry, the threat of rivalry, the threat of substitutes, the threat of suppliers, and the threat of buyers. When all five threats are low, competition begins to approach what economists call a monopoly, and firms are able to earn above average profits. Alternatively when all five forces are very high, competition begins to approach perfect competition and the best firms can hope to earn is competitive parity.

3. The products or services provided by a firm’s rivals meet approximately the same customers needs in the same ways as the products or services provided by the firm itself, while substitutes meet approximately the same customers needs but do so in different ways. Substitutes place a ceiling on the prices firms in an industry can charge and on the profits firms in an industry can earn.

4. A firm does not have to be the sole possessor of a valuable resource or capability for the firm to benefit from the rarity of a resource or capability. It may be possible for a small number of firms in an industry to possess a particular valuable resource or capability and still obtain a competitive advantage. In general, as long as the number of firms that possess a particular valuable resource or capability is less than the number of firms needed to generate perfect competition dynamics in an industry, that resource or capability can be considered rare and a potential source of competitive advantage.

5. In general, imitation occurs in one of two ways: direct duplication or substitution. Imitating firms can attempt to directly duplicate the resources possessed by the firm with a competitive advantage. Imitating firms can also attempt to substitute other resources for a costly-to-imitate resource possessed by a firm with a competitive advantage. The 4 sources of costly imitation include:
· Unique Historical Conditions. It may be the case that a firm was able to acquire or develop its resources and capabilities in a low-cost manner because of its unique historical conditions. The ability of firms to acquire, develop, and use resources often depends upon their place in time and space.

· Causal Ambiguity. A second reason why a firm’s resources and capabilities may be costly to imitate is that imitating firms may not understand the relationship between the resources and capabilities controlled by a firm and that firm’s competitive advantage.

· Social Complexity. A third reason that a firm’s resources and capabilities may be costly to imitate is that they may be socially complex phenomena, beyond the ability of firms to systematically manage and influence.

· The existence of patents.

6. There are several reasons that firms producing essentially the same products can have different costs. Some of the most important of these are: (1) size differences and economies of scale, (2) size differences and diseconomies of scale, (3) experience differences and learning-curve economies, (4) differential access to productive inputs, and (5) technological advantages independent of scale. In addition, firms competing in the same industry can make policy choices about the kinds of products and services to sell that can have an important impact on their relative cost position.
7. Sources of cost advantage that are likely to be rare include learning-curve economies, differential low-cost access to productive inputs, and technological ”software.” However, even when a particular source of cost advantage is rare, it must be costly to imitate in order to be a source of sustained competitive advantage. However, learning-curve economies may not be costly to duplicate in some industries. Therefore only differential low-cost access to productive inputs and technological software are both rare and costly to imitate, because they build on historical, uncertain, and socially complex resources and capabilities.

8. The most appropriate organizational structure is a functional structure, or the U-form that divides the company by major business function such as manufacturing, marketing, finance accounting, sales, etc. Each of these functions is managed by a functional manager and all functional managers report to the chief executive officer or CEO. The CEO in a U-form organization has two basic responsibilities: (1) to formulate the strategy of the firm and (2) to coordinate the activities of the functional specialists in the firm to facilitate the implementation of this strategy.
9. Although some bases of product differentiation including timing, location, distribution channels, and service and support have few obvious close substitutes, others have readily available substitutes. Substitutes for these bases of product differentiation can take two forms. First, many of the bases of product differentiation can be partial substitutes for each other. For example, product features, product customization, and product complexity are all very similar bases of product differentiation and thus can act as substitutes for each other. In a similar way, linkages between functions, linkages between firms, and product mix, as bases of product differentiation, can also be substitutes for each other. IBM links its sales, service, and consulting functions to differentiate itself in the computer market. Second other strategies can be substitutes for many of the bases of product differentiation. For example, one firm may try to gain a competitive advantage through adjusting its product mix, and another firm may substitute strategic alliances to create the same type of product differentiation.
10. Both cost leadership and product differentiation strategies are implemented through the use of a functional or U-form organizational structure. However, where the U-form structure used to implement a cost leadership strategy has few layers, simple reporting relationships, a small corporate staff, and focuses on only a few business functions, the U-form structure for a firm implementing a product differentiation strategy can be somewhat more complex. For example, firms pursuing a product differentiation strategy often use a matrix structure that includes temporary cross-divisional and cross-functional teams to manage the development and implementation of new, innovative, and highly differentiated products. These teams bring individuals together from different businesses and different functional areas to cooperate on a particular new product or service. One of the key management controls in a product differentiation strategy is broad-decision making guidelines. These broad decision-making guidelines help bring order to what otherwise might be a chaotic decision making process. When managers have no constraints in their decision-making, they can make decisions that are disconnected from each other and inconsistent with a firm’s overall mission and objectives. This results in decisions that are either not implemented or not implemented well.
